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The following table shows the number of players who participated in three sports events E1, E2
and E3 along with the ratio of Male (M) to Female (F) participants among them from six different
countries, namely, India, US, China, Russia, England and Germany.

Based on the data in the table, answer the questions that follow :

Country-wise Details of Participation in Sports Events

Players who Participated in Sports Events
Country El E2 E3

Number | M:F | Number | M:F |Number | M:F
India 480 241 500 17:8 700 9:2
Us 1280 5:3 | 1440 715 1500 5|
China 1100 7:4 | 1160 [13:7 | 1240 31

Russia 1300 8:5 1320 734 1500 8:7
England | 800 Bl 840 99 900 5:4
Germany | 630 | 16:9 728 3.1 750 241

Sub questions

Question Number : 1 Question Id : 53307211425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the total number of female participants in sports events El and E3 together ?
(1) 4274
(2) 4308
(3) 4326
(4) 4334

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307211426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the ratio of the number of female participants from US in the event E2 to the number of
female participanl‘s from China in the event E3 ?

(1) 60:31
Q) 29:31
(3) 27:31
(4) 58:31

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307211427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of male participants and the number of female
participants in the event E2 from all the six countries together ?

(1) 1724

(2) 1728
(3) 1732
(4) 1734

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307211428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of female participants from India in event E1 is % less than the number
of female participants from Germany in event E3.

(1) 40

Options :
1.1
2.2



3.3
4.4

Question Number : 5 Question Id : 53307211429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of participants from China in event E2 is % more than the number of
female participants from US in event E3.

(1) 120
(2) 124
(3) 128
(4) 132
Options :
1.1
2.2
3.3
4.4

Question Id : 53307211424 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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480 | 2:1 | 500 [17:8| 700 | 5:2
180 | 5:3 | 1440 | 7:5 | 1500 | 2:1
100 | 7:4 | 1160 | 13:7 | 1240 | 3:1
1300 | 8:5 | 1320 | 7:4 | 1500 | 8:7
800 | 3:1 | 840 | 9:5 | %00 | 5:4
650 |16:9| 728 | 3:1 | 750 | 2:1
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Sub questions

Question Number : 1 Question Id : 53307211425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el Yaaifiarel E1 9 E3 ¥ fetert Afeen gfa il =61 ol ge oo & 2
(1) 4274

(2) 4308
(3) 4326
(4) 433
Options :
1.1

2.2

3.3
4.4

Question Number : 2 Question Id : 53307211426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S fo 27

() 60:31

(2 2931

@] 27:3

(4) 58:31
Options :
1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307211427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) 1724

(2) 1728
(3) 1732
(4) 1734
Options :
1.1

2.2

3.3

4.4

Question Number : 4 Question Id : 53307211428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) 40

(2) 36

3 28

(4] 79

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307211429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it 2 = 1 Yot it wen v 3 § s 3 ofeen vfaf ¢ gen g %
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(1) 120
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) 132

Options :



1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072450
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 53307211430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are not the examples of Positive - Transfer of Learning ?
(A) Learning of Piano makes it more difficult to learn the violin

(B) Mastering Algebra helps in understanding Calculus

(C) Knowing how to drive a car makes it harder to learn how to ride a bicycle
(D) Learning to speak French hinders learning Spanish

Choose the correct answer from the options given below :

(I) (B) and (D) Only

(2) (A), (C) and (D) Only

(3) (B), (C) and (D) Only

(4) (A)and (C) Only

Options:

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307211430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 53307211431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A web-based e-learning application allowing users to select a video and customize it by editing,
cropping, recording their own audio and adding quiz questions directly to the video stream is
known as:

(I) ED puzzle
(2) Mindmeister
(3) Miro

(4) Labster

Options:
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307211431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 53307211432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process mostly completed within several hours, but which can last for years, which fixes
information in long-term memory is known as :

(I) Repression

(2) Episodic memory

(3) Consolidation

(

4)  Retroactive interference

Options:
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307211432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 53307211433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an online course, a teacher wants to organize weekly readings, quizzes and discussion forums
for students. Which of the following platforms would be most suitable for managing these activities ?
(A) Schoology

(B) Blackboard learn

(C) Zoom

(D) Canvas

(E) Moodle

Choose the correct answer from the options given below :
(I) (C), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (A), (B), (D) and (E) Only

4 (0 and D) Only

Options:

1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307211433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(2) ¥ (A), (B) 4T (O
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(@) e (C) 4 (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 53307211434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
(Swayamprabha Channel No.) (Theme)
(A) Channel 8 (I)  Applied Sciences
(B) Channel 9 (I)  Social Sciences and Humanities
(C) Channel 10 (I) Life Science
(D) Channel 11 (IV) Physical and Earth Sciences

Choose the correct answer from the options given below :
(A)-(H), B)(ID), (©)-(IV), (D)-(0)

1), (BI-(I), (C)-(IL), (D)-IV)

(i), (B)-(Iv), (CH1D), (D)-(1)

(IV), (B

(A
(A
(AHIV), (B)-(IH), (C-I), (D)

!
A)

Options :



1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307211434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A)-(I), (B)-(ID), (C)-(V), (D)-0)
(2) (A0, (B)-(I), (O-(I), (D)-(IV)
(3)  (A)-(Im), (B)-(IV), (O)-(II), (D)-(I)
@) (A1), (B)AIL), (O)-(D), (D)-(I)

Options:
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 53307211435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, Which of the following percentages of similarity

in a research article would result in denial of one annual increment to a university teacher ?
(1) 62%

2 2

(3) 48%
(4) 18%
Options :
1.1



2.2
3.3
4.4

Question Number : 11 Question Id : 53307211435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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() 62%

(2) 34%
(3) 48%
(4) 18%
Options :
1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307211436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have maximum bias ?
(I) Simple random sampling

(2)

(3) Snowball sampling
(4)

Options :

1.1

2.2

3.3
4.4

Stratified random sampling

Cluster random sampling

Question Number : 12 Question Id : 53307211436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 53307211437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the threats to interal validity associated with participants in a study.
(A) Testing threat

(B) Selection threat

(C) History threat

(D) Attrition threat

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (), (C) and (D) Only
() (A), (B) and (D) Only
(4) (A), (C) and (D) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 53307211437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) THE HeEl T
(B) =& HaH T
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2) %= (B), (C) 3 (D)
(3) Ed (A), (B) 3R (D)
(4) A (A), (C) ¥R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 14 Question Id : 53307211438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Arrange the data sets with following means (x) and standard deviations (o) in increasing order of

their coefficients of variation :
(A) 0=37, y =2
B) =43 1 =12
(C) =52 ¥ =35

(D) o=61, y = 40

Choose the correct answer from the options given below :
() (A), ), (C) (D)

@ (), (C) O) (A

@) (© (D) ®) (4)

() (D) (©) @A) ©)

Options :

1.1

2.2

3.3



4.4

Question Number : 14 Question Id : 53307211438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i o (5) o T o (o) S s o s T 7 o

(D) o=6.1, y =40
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Options :
1.1
2.2
3.3
4.4
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Question Number : 15 Question Id : 53307211439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 11
(Variable) (Description)
(A) Dichotomous variable ~ (I) s causally influenced by another variable
(B) Independent variable () Where distances between categories are identical across
its range of categories
(C)  Dependent variable (Il) Has just two categories
(D) Interval variable (IV) Has a causal impact on another variable

Choose the correct answer from the options given below :
(1) (A}(D), (B)-(T), (CHI), D)-(IV)
2) (A, (BHI), (CHIV), (D)
3) (A)), (B}IV), (CH), (DH(I)
4) (AHD, (B}, (CHIV), (DHI)

Options :
1.1
2.2
3.3
4.4

A

@ (@A
G |
4 (@A

Question Number : 15 Question Id : 53307211439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teft-1 ¥ Feit-11 1 el i .
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(1) (AHD), B)-(L), (©)-1), (D)-(IV)

(2) (A, (B)(I), (CHIV), (DHI)
(3) (A, (BIV), (O-(D), (D)-()
(@) (A0, B)HL), (CHIV), (D)-(I)

Options :



1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307211440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The interactive technologies are responsible for the appearance of :
(I) Traditional media age

(2) Broadcast media age

(3) Market media age

(4)

Second media age

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307211440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I -fRaTerss drenfierai g smma & foe SeRert £2
(1) 9RwfeR Hifear g
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Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307211441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The interactive society is based on integration of :
(I) Multiple communication modes

(2) Dual communication restrictions

(3) Single purpose audience

(4) Varied face-to-face options

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307211441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TFHaTeHs THS fohEeh QiR T SMMeid © ?
(1) =gfaY FeIw 7y

(2) 59 TEwY G ufqey
(3) TH YA a1l AR
(4) Tafay qE=Ta fawe
Options:

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307211442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The post-modern mass media have the characteristics of :
(A) Immobility

(B) Mobility

(C) Globalisation

(D) Simulation

(E) Linearity

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

(2) (B), (C), (D) Only
(3) (), (D), (E) Only
(4)  (A), (C), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307211442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR T Hifea 1w fosmar € 2
(A)  aTTfasierd

(B) TIfaefieral

(C) AT

(D) ST

(E) figeka

= feu TTu fomredl § € Wl AT o1 = HieT
(1) 9 (A), (B), (O)

(2) 9 (B), (C), (D)
(3) de (C), (D), (E)
(4) A (A), (O), (B)
Options :

1.1

2.2

3.3



4.4

Question Number : 19 Question Id : 53307211443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the chronological sequence of the following communication devices :

(A) Audio cassettes

(B) Long playing record

(C) Magnetic tape

(D) Compact discs

(E) MP3

Choose the correct answer from the options given below :
(1) (A), (®), ©), [E), D)
(2) (B), (D) (E), (A), (C)
@3) (€, (B) (A), (D), (E)
(4) (D) (E) (B), (©) (A)
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307211443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) o FEH

(B) T HHY Tk I S el fEhis

(C) #HHfesw 2g
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(1) (A), (B), (©), (E), (D)

(2)  (B), (D), (B), (A), (O)
3)  (©), (B) (A), (D), (E)
4) (D) (E) (B), (O) (A)



Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 53307211444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - 1.

List - 1 List - 11
(Concept of profit) (Description)
(A) Synergy () Strong incentive to replicate a successful format
(B) Planned obsolescence (I) Media obsession with sensationalism
(C)  Logic of safety (Il) Horizontal integration of subsidiary media companies
(D) Spectacle (IV) Planned Phasing out of product

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(1), (C)-(I), (D)-(IV)

(2)  (AHI), @), ©)-1v), (D)-0)
(3)  (A)-{II), (B)-(IV), (CH), (D))
(4)  (AHIV), (BHI), (C1(I), (D}II)
Options :

1.1

2.2

3.3

4.4

Question Number : 20 Question Id : 53307211444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Teft-1 ¥ Ga-11 2 el e .

Tl Tt-11
(Y T FFETT ) (9ui)
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(1) (A, (B-I), (CHIL), (D)-{LV)
(2) (A, B, (C)-1V), (D)-0)
(3) (A}, (BHIV), (CHD), D}I)
(4)  (AHIV), (B)-(1), (C)-(1), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307211445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1

(Expression) (Value)
(A) 0.5x0.05x0.005x50 (I) 154.15125
(B) 5.55%x55.5%x55 (II) 16941.375
(C) 5.05%x5.55x5.5 (LIT) 1678.875
(D) 55xX55%555 (IV) 0.00625

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IIL), (C)-(D), (D)-(1I)
(2)  (A)-(1), (B)-(IL), (C)-(1V), (D)-(I)
(3)  (A)-(IV), (B)-(1D), (C)-(I), (D)~(1LI)
(4)  (A)-(IV), (B)-(III), (C)~(1D), (D)-(I)

Options :
1.1



2.2
3.3
4.4

Question Number : 21 Question Id : 53307211445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qat-1 9 gait-11 =1 e =i
eI -1
(=T ) (W)
(A) 05%0.05x0.005x50 (I) 154.15125
(B) 5.55x%55.5%55 () 16941.375
() 5.05%5.55%55 (L) 1678.875
(D} B5XB5EXE55 (IV) 0.00625

= feu v fawedi § 9 WaE SO ol 999 Fifau :
(1)  (A)-(IV), (B)~(IL), (C)(1), (D)~(II)
(2) (A1), (B)-(LID), (O)-(IV), (D)-(I)
(3)  (A)-(IV), (B)~(1T), (O)-(I), (D)~(11)
(4)  (A)-(IV), (B)~(I), (O)~(1T), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307211446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of question mark (?) in the series given below :

g0 250l
346
(1 3
5 3
QA 3
(3) 2
59



Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307211446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7l o 1T 0 H T A WM (7) T G S G a9 Ge 1 9

(E89 .0
2 3 4 6
() 3
o o
12
(3) 2
29
4 75
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307211447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true ?
(A) A single discount, equivalent to a series of discounts of 20%, 10% and 5%, is 35%.

(B) If after two successive discounts of 12% and 5%, an article was sold for ¥ 209, then the
otiginal price of the article is T 0.

(C) Ifa shopkeeper allows two successive discounts of 5% each on the marked price of ¥ 80, the
selling price of the article is ¥ 75.

(D) If the difference between a single discount of 35% and two successive discounts of 20% on a
certain bill is ¥ 22, then the total amount of the bill is T 2200.

Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only

(2)  (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307211447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R R Rk i

(A) 20%10% T8 5% 1 A G2 o FAGed Tl 92 35% &

(B) 7 12% T 5% % 3 i 3  oIC T o A T 209/- ¥ o7 ™, T A H [ I
T00/- §

(C) e T THARR T 80 - F ek qTd TS AR 5% 0 T2 31 &, o] ;¢ fop A T 75 /- %

(D) T Hiwa forel W 35% %1 That g2 R 20% A <) 6 Gl o WA R 3 20/- &, 7@ forer Al
% T T 2200/- &

el e e e o 9 WY SR o < I
) A) (BT ()

2) AT ()

3) B)T (D)

Ea
S
EE
4 @ (C) T (D)

( (
( (
( (
( (

Options :



1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307211448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain coded language :

“Indian cuisines are good” is coded as : “MI CI F1 GI”

“They like Indian cuisines” is coded as : “Al LI MI CI”

“People like Indian Chinese” is coded as : “PI LI MI HI”

“They and people are best” is coded as : “Al DI PI FI BI”

How the words "good” Chinese” and "cuisines” are coded in this language ?

(1) Gl Hland ClI

(2) Al Lland FI

(3) ML, DI and BI
(4) HI, Cland LI
Options:

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307211448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fereft e o A

“Indian cuisines are good” %I Feog He H “MICl FIGI” forg e @
“They like Indian cuisines” I F2dG HIE H “Al LI MI CI” foran S &
“People like Indian Chinese” FI F2dg & § “PI LI MI HI” feran S &
“They and people are best” Ea) FdG %1€ § “Al DI PI FI BI” foran wmen €
‘good’, “Chinese’ T§ ‘cuisines’ J&5] &1 39 991§ FY Fedg fhan o ?

(1) GIHITECI
(2) AL LITSFI
(3) MI, DIUd BI
(4) HI, CIus LI

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307211449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The average age of a group of workers is 42 yrs. If eight (8) new workers of average age of 36 yrs.
join the group, the average age of the group becomes 40 yrs. Find the number of workers initially
present in the group :

() 17

(2) 16

(3) 18
4) 20
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307211449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T 91 HE 1 3010 g 4290 €1 3G 36 7 31 S 31 a1 § (372) T A1 3 e § i
o & 1 9 o it o 40 B W €1 g e wufeem st % e wau

() 17

(2) 16
(3) 18
(4) 20
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307211450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

”Accordjng to some newspapers tnday the Crime rate in New York has slightly increased in the
recent past. New Yorkers are nothing but a bunch of criminals”. Which fallacy is committed in
the above statement ?

(I) Slippery slope

(2) Appeal to Inappropriate Authority
(3) Hasty Generalization

(4) Strawman

Options:

1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307211450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" 71 5 WA % SRR ek § T Tl H S A 9 9 T & | =g o S & U
e & Sfafta 33 T 1" S o § e e o T 2

(1) e B

(2) ST R F o

(3) o QT

) TR ()



Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307211451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true ?

(A)  An argument is sound when it is valid and has only true premises

(B) Inan argument truth of its conclusion determines its validity by itself.
(C) Some valid arguments have false premises and a true conclusion

(D) Some invalid arguments have false premises and a true conclusion
Choose the correct answer from the options given below :

(1) (A), (C) and (D) Only

(2) (A), (B) and (C) Only

(3) (B) and (C) Only

(4) (A), (B) and (D) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307211451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafas § § FF9 Fo6 T §72

(A) T gf 29 € ST U8 94 B IR Fad o AR Wl o |
(B) ot gfsa o 3w Frerd o1 v @4 goet duan fauifa @ €1
(C) FB Iy gfFadi o SUEHE 579 3R f7ehd 9 2 € |
(D) F3 Y it 1 anenfishd e iR frepd wca 2 €
A fou U okl ¥ | W@ SO 1 994 HifU

(1) %4 (A), () ¥R (D)

(2) e (A), (B) 3R (C)

(3) %A (B) 3R (Q)

(4) 9@ (A), (B) ¥R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 53307211452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing extension.
(A) Sonnet

(B) Poem

(C) Verse

(D) Literature

Choose the correct answer from the options given below :

(1) (A) (B) (©) (D)

2 (D), (©), (B), {A)
(3) (D) (B), (A), (C
(4) (A) (B), (D), {C)
Options:

1.1

2.2

3.3

4.4



Question Number : 28 Question Id : 53307211452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafeaa = awae & =ed gu %0 ¥ srafem it
(A) =EI-94l (HF2)

(B) #Hfaa

(C) =

(D) wrfed

A= fou TTq foreredl # | W& 3T Rl =9 IS

(1) (A) (B), (O, (D)

(2) (D), (©), (B), (A)

(3) (D), (B), (A), (O

4) (A) (B), (D), (©

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307211453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Informal fallacy) (Reason)
(A) Argument from Ignorance (I) Presumption
(B) Appeal to Emotion ()  Ambiguity
(C) Fallacy of Division (IlT) Relevance
(D) Begging the Question (IV) Defective Induction

Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(1D), (O)-(ID), (D)-T)

(2)  (A)-(IV), (B)-(I), (C)-(LI), (D)-(IT)

@) (A)(D), (B)-(IL), (C)-(ID), (D)-(IV)

(4)  (A)-(IV), (B)-(IIL), (C)-(11), (D)-(1)

Options :

1.1

2.2



3.3
4.4

Question Number : 29 Question Id : 53307211453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s
Teil-1 THi-11
( 3R dehard ) ( =TT )
(A)  sfvar § Ffor () e
(B) HAIVTE E (I)  sregeeal
(C) TawrsH weha (II1)  wrefireRa
(D) 3TeHISE T (IV) Ffeqol e

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1)  (A)(LV), (B)-(1I), (O)-(11L), (D)-(I)
(2)  (AMIV), (B)~(I), (C)-(1L), (D)-(IL)
(3) (A1), (B)-(LI), (C)-(1I), (D)-(IV)
4) (A)-(IV), (B)-(1I), (O)-(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307211454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic, which of the following statements is fallacious because it involves a non-
inferentially contradicted middle term ?

(1)  The hill has fire because it is knowable
(2) Fire is cold because it is a substance

(3)  All things are non-eternal because they are knowable
(4)  Sound is eternal because it is audible

Options :

1.1

2.2



3.3
4.4

Question Number : 30 Question Id : 53307211454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TR o S FAAferia ) e e ook 39 U & e 6 -SRI A 7
&

(1) TR R 3 ¢ FiF T A T

(2) om Yo & i 7 T WY R

(3) 9 U TRy € i A FAE

(4) af v ¢ A 7% 9 €|

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307211455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to computer networking, which of the following statements is true of an Intranet.

(I) Itisa network within an organization that uses Internet protocols and technologies.

(2) Itis anetwork that covers a wide area with the help of rented telecommunication lines.

(3) Itis anetwork where a computer is connected to the Internet and acts as a gateway for other
devices.

(4) Itis a widely available public network of interconnected computer networks.

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307211455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fget Tk & oo § F 1 4 dove gad R 1 F e 98 R

(1) 8§ & Wit 1 o ¢ Sl 32072 Werhiel @ renmiieRal o Jam & @

2) % T "9 & W (RO I AR A B Wer W U S A 1 S e ¢
3) T U Tea ¢ el HUI 3201 U T A & S o AR o e e ok e
4) T TO- WA R 2] 1 ATH T § 3G AR e &

Options :

1.1

2.2

3.3
4.4

(
(
(

Question Number : 32 Question Id : 53307211456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched ?
(1) CDROM - Computer Disk Read Only Memory

(2) CRT - Cathode Ray Tube

(3) MICR - Magnetic Ink Character Recognition
(4) AVI- Audio Video Interleave

Options:

1.1

2.2

3.3

4.4

Question Number : 32 Question Id : 53307211456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ufteft 3R SueF fawar &1 1 ¥ ¥ %60 | g gafea Tl 82
(1) H1 7 3R 30l O - &g fewer e siHal 36l

(2) H R F - FAE L T

(3) TUH 3 Gl 3R - WHEF Tk h{det RHeH
(4) TH IR - sifedr difedl st

Options :

1.1

2.2



3.3
4.4

Question Number : 33 Question Id : 53307211457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the sequence of words A-E that correcl‘ly fills the blanks n the following paragraph ;

An operating system that uses windows, icons, menus and pointers for human - computer
interaction, is known as . Post-WIMP inter-faces found on devices like iPads, iPods
and mobile phone make use of technology that allows us to use our fingers to select
icons and menus. Post-WIMP interfaces allow us touse , totating and swiping
techniques. The technology that allows users to store documents, programs and data on Internet
is known as . Documents created using Google Docs are stored _ _on the

Internet and can be accessed anywhere and at any time.
(A) Touch Screen

(B) Cloud Computing
(€) GUI
(
(

e

D) Remotely
E) Pinching
Choose the correct answer from the options given below :
1) (© (A E) 0) @

) (4,0, 0) @)
) () (0).(0) (B (A
' ) (B), D

( )
( )
@ (€ (A) ), B), D)
Options :

1.1

2.2

3.3

4.4

Question Number : 33 Question Id : 53307211457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AE Y& % 0 1 Teem it o fey e o fra T R w o R

G- ST ) TS, e, W @ Wt o1 A 0 el e Jome R

T T o €1 o e, o1 e iR W R S AR R R T e -2 o o 1 3
TrENfiTR! o S o € 0 g e sffer 2 A o o B9 R S €1 O v o

w O Ze0h o U 9 U T A A EE < ¢ TR e W e,

TV 9 ST e 4t ST < ol e H & H T G | T S A

T Yo 32T W W & & O T 7 Tl o o o of T 1w g

4 fou U foped & 0 WG W 1 T HC

(1) (©(A), E) D) B)

2) (A)(C), D), (B) E)

, (D), (C) (E), (A)
D)

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 53307211458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following devices are computer input devices only ?
(A) DVD-R

(B) Joystick

(C) Plotter

(D) Touch Pad

(E) Microphone

Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

(2 (B), (D) and (E) Only

(3)  (A), (B) and (C) Only

(4) (B), (C), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307211458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 8 3 = O gfgaa Faa e 1 gfaa € €2
(A) EralE - AN

(B) wafE®

(C) =X

(D) 2z Yg

(E) HIZhITIA

e feu T faekedi § € W& IO 999 HIa ;

(1) <= (A), (D) 3R (B)

(2) & (B), (D) ¥R (E)
(3) e (A), (B) ¥R (C)
(4) 9 (B), (C), (D) 3R (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 35 Question Id : 53307211459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List-1I
(Error Message in MS-EXCEL) (Error Description)
(A) #HHH# (I)  When the formula contains a cell reference that is
pointing to an invalid cell
(B) #VALUE! (II) When you divide a number by a cell that points to
an empty cell
(C) #REF! () When the arithmetic formula contains text instead
of a number
(D) #DIV/O (IV) When the cell contains a number that is too wide for

the result to be displayed
Choose the correct answer from the options given below :
(1) (AJ-{I), (B}IV), (CH(L), (D)-(1)
2) (AHIV), (B, (CH(L), (D}(I)
3) (A0, (B)-(IV), (CH(I), (DHI)
1) (AHIV), (BH), (), (D)

Options :
1.1
2.2
3.3
4.4

@ |
G
@

Question Number : 35 Question Id : 53307211459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e

Tl Tl
(T TR T W e W) (7fe faron)
(A) #hshs () ¥ VTS e B & W) oY e A A 3
HEAMNE
(B) #VALUE () ¥ oM & Fen F g § favife & € 9 fs
TS ol R 3 A
(C) #REF! () 7@ SRt 3§ Ge o WH T R () &
(D) #DIV/O (IV) 4 T3 # 3o ot forga e €, e oftomm
Wi 7 o 1 W6
A fou T forsredi B W@ TR T Fi
(1) (AH), (BHLV), (CHID, (D)
(@ (AHIV), (B)-L), (CHI), (DHI)
() (A1), (BRIV), (C}(I), (D)-(I)
() (AHIV), (B)-1), (CHIL), (DHI)
Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307211460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pure rain water is naturally :
(1) Mild Acidic

(2) Mild Basic

(3) Neutral

(4) Strong Acidic

Options:
1.1
2.2
3.3
4.4



Question Number : 36 Question Id : 53307211460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fagrs aul S/t yrkfas w9 | 1 g1 € ?
(1) ¥g 3™

(2) He A

(3) =RIEH

(4) fa sr=i™

Options :
1.1
2.2

3.3
4.4

Question Number : 37 Question Id : 53307211461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Presence of Lead in drinking water can adversely affect the human health. The three vital systems
in the human body that are most sensitive to Lead are :
(A) Nervous system
(B) Cardio-vascular system
(C) Renal system
(D) Respiratory system
(E) Blood forming system
Choose the correct answer from the options given below :
() (A), (C) and (E) Only
B), (C) and (D) Only
B), (D) and (E) Only
A), (C) and (D) Only

@ |
3
@ |
Options:
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307211461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



STt T T o eI WG T W o 9 S e & | & Ui Fa i W
el YO o i WEeul 7 & -

(A) ¥

(B) -olfeeH

(C) A

(D) A T

(E) T fwim o

7 fou T fomredi @ B W@ TR T Fi

(1)
(2) el
(3) &
W
Options :
1.1

2.2

3.3
4.4

Question Number : 38 Question Id : 53307211462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represent the nutrient contents of a water body at different levels ?
(A) Phototropic

(B)  Eutrophic

(C) Mesotrophic

(D) Chemotrophic

(E)  Oligotrophic

et

Choose the correct answer from the options given below :
(1) (A),(C) and (E) Only

(2) (B), (C) and (D) Only

() (4),(8)and (D) Only

) () (Cand {) Ony

Options :

1.1
2.2



3.3
4.4

Question Number : 38 Question Id : 53307211462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafee § § FHY v ey ¥ fofis & ® dmes @ ) 2fad w2
(A) W W (BRRIE)

3 e o oot # @ W@ ST 1 T FAC
) I (A), (C) ¥R (E)

) % (B), (C) @R (D)
) (
)

(B)
3) %ad (A), (B) 3R (D)
4) %94 (B), (C) 3R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307211463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true about sound ?
10 decibel (dB) increase in sound is equal to 10 fold increase in sound intensity

B) 20 dB increase in sound is equal to 20 fold increase in sound intensity

The audible sound range is between 20 Hz to 20 kHz
) Sound below 20 Hz is called ultrasound while above 20 kHz is called infrasound
Choose the correct answer from the options given below :
() (4), (8) and (D) Only
(B), (C) and (D) Only
(C), (D) and (E) Only
(A), (C) and (D) Only

(4)

{

(C) Loudness is the human perception of sound intensity
(D)

E

()
()
(4)

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307211463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frreifefian 8 & i Fem i o o f o €7

(A) =¥ 10 <Hew () 9 3fg @&t # dom § 1079 35 F T

(B) ¥ 0 7 33 BF F w H 20T 35 F THE

() arcr et 2 et 1 A JeafieR |

(D) 957 4af 1 39 (W) 20 Hz B 20 kHz F 919 &1

(E) 20 Hz % A4 et 1 T0eaf Fe) S €, ol 20 kHz & T 5 9 33-5a Hgl 0 ¢
1 few T foeredl o 9 T S A T FI

(1) 3 (A), (B) 4 D)
(2) # (), (C) ¥R ()
() % (C), (D) 4R E)
(&) a (A), (C) 4R (D)

ﬁ%ﬁ%ﬁ

Options :
1.1
2.2
3.3



4.4

Question Number : 40 Question Id : 53307211464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following green house gases trapped in large quantity in permafrost and hydrates
will likely be released in atmosphere due to global warming ?

(I)  Nitrous Oxide (N,O)

(2) Methane (CH,)

(3)  Chlorofluorocarbons (CFCs)
(4) Hydrofluorocarbons (HFCs)
Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307211464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 19 (el ) o 7 el o qfy (eree) it e o et e o 4 e
T 198 179 o Foart &1 a1 et 22

o

T2y SRS (N,0)

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307211465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The Council of Education (in India) sought the establishment of a university in :
(I) Bengal Presidency

(2) Bombay Presidency

(3) Madras Presidency

(4) North-Western provinces

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307211465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foren ftwe (v ) 3 Fefafed § | fg o v favalamem & = & g fe?

(1) o gree=r
(2) a g
(3) wErE yfEe
(4) FR-ufeE o= o
Options:
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307211466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the New Education Policy, 2020, who among the following must be at the centre of
fundamental reforms in the education system ?

(I) Policy makers

(2) Teachers

(3) Industry leaders

(4)  Administrators

Options :

1.1
2.2



3.3
4.4

Question Number : 42 Question Id : 53307211466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it fine A 2020 % S8R, 17§ © o Aeger qomedt § v G o o H G e

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 53307211467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Anglican Missionary Societies were most involved in teaching in high
schools and colleges across North India in later part of Ninetieth country ?
(A) The Church Missionary Society

(B) The London Missionary Society

(C) Society for the propagation of the Gospel

(D) The Cambridge Mission to Delhi

Choose the correct answer from the options given below :

(I) (A)and (B) Only

()60 0

(3) (C) and (D) Only

(4)  (A), (C) and (D) Only

Options :
1.1
2.2
3.3
4.4



Question Number : 43 Question Id : 53307211467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et o 4 - ol () fror et 19 vt 1t et o e R o A 3=
foremerai wa et o e o st fmfor o 7
(A) T frmth St

(B) & e frordl wrme

(€ S i & 9 i 3 e

(D) e it fire 2 fecet

A1 few T ol W 9 e S 1 T I
(1) 3 (4) 3R (B)

@ () @), (), D)

() @ (C) &R (D)

(@) @ (4) (O D)

Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 53307211468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the chronological order of the following agencies of educational administration in British
[ndia.

(A) University Board

(B) Board of Governors

(C) Committee of Native Education

(D) Council of Education

(E)  Department of Public Instruction

Choose the correct answer from the oplmns gwen below :

(1) (&) (€ ) (E) ()
@ @), () ©) A), )
() © (), 0), () ()
(4) ) () B) Q) A)

Options :



1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307211468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forfest Wi W 91 9ifark T9me 1 TS T9di 1 FHIcTsh{Hs ®9 H o0 ;
(A) fovafaaram are

(B) dIE 3 MY

(C) <t fren =1 wfwfa

(D) foien gRug

(E) Wi e &1 fasm

A e T ferpedi @ | W I 1 = I
(1) (A), (©), (D), (E), (B)

2 (B), (E), (O) (A), (D)

3)  (©), (A), D), (B), (E)

4) (D), (E), (B), (O), (A)

Options:

1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307211469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
(Author) (Ancient Text)
(A) Gotama (I)  VaiSesika sutras
(B) Patanjali (II) Nyaya sutra
(C) Kautilya (III) Yoga sulra
(D) Kapad (IV) Arthasastra

Choose the correct answer from the options given below :
(1)  (A)-(IL), (B)~(1D), (C)-(IV), (D)-(I)

(2) (A1), (B)-(I1I), (O)-(IV), (D)-(I)

(3)  (A)-(II), (B)~(ID), (C)-~(I), (D)~(IV)

(4) (A)-(10), (B)-(IV), (C)-(I1I), (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 45 Question Id : 53307211469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Ti-1 Tl
(TG ) (U= TS )
(A) T () s g
(B) Tdsiiel () =g
(C) ife™ (LI1) =r g
(D) FUE (IV) 3o

=1 feu U foehedi § € Wél IO ol T FHI9T
(1) (A)-(), (B)-(1D), (©)-(1V), (D)-(I)

(2) (A1), (B)-(IL), (C)-(IV), (D)-(I)

(3)  (A)-(II), (B)-(ID), (O)-(), (D)-(IV)

(4) (A1), (B)-(IV), (C)-(I1L), (D)-(I)

Options :

1.1



2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072451
Question Shuffling Allowed : No

Question Id : 53307211470 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow.

Adolescence is the most important period of human life. Poets have described it as the
spring of life of human being and an important era in the total life span. The word adolescence
comes froma Greek word ‘adolescere” which means "to grow to maturity’. A number of definitions
have been given by Psychologists from time to time. Some Psychologists define it as the transitional
period of life. The child experiences a number of changes in this transitional period. The period
runs between childhood and adulthood and is some times called the period of teenage.

According to A. T. Jersild “Adolescence is that span of years during which boys and girls
move from childhood to adulthood, mentally, emotionally, socially and physically”.

Chronologically adolescence comes roughly in between the years from 12 to the early 20's,
The onset of adolescence varies from culture to culture depending on the socio-economic conditions
of the country. In this period, great changes occur in all developmental dimensions of the individual.

Sub questions

Question Number : 46 Question Id : 53307211471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term 'adolescence’ means :

(1) A state of bliss

(2)

(3) Moving towards maturity
)

(4

[nnocence of childhood

Detachment from materialistic world

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 53307211472 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

The origin of the world “adolescence’ has come from the following language :
(1) Latin

(2) Greek

(3) Sanskrit

(4) German

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307211473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT. Jersild’s definition regarding adolescence highlights the following :

(I) A child moves from childhood to adulthood, mentally, emotionally, socially and physically.
(2)  Adolescents spend less time in front of the television than other age groups.

(3) Adolescents reject their parents as companions and as a source of advice.
(

4)  Only a minority of adolescents experience some serious psychological issues.

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307211474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Poets have compared adolescence to the following phase of life :
(1) Summer

(2) Winter
(3) Spring
(4) Fall
Options :
1.1

2.2

3.3



4.4

Question Number : 50 Question Id : 53307211475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about adolescence is true ?

(1)  Adolescence is a period in between the years from 12 to the early 20's.
(2) No one can predict exactly when adolescence commences.
(3

(

4)  Adolescence does not include any physical and psychological change.

)  Adolescents are incompetent in tackling science and mathematics puzzles.

Options:
1.1
2.2
3.3
4.4

Question Id : 53307211470 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

i Terior 2Bt S, UaT A W o SR S

feRYIRToReN G e 1 o Ve St €1 i A 38 W e o a6d A e S
A % e g o ¥ A e €1 e v g Ve TeerR’ § for T R
forerert cref 2 & v e ol 2| SRR A SHE- R O 3HE S TR € €
9 WA 38 S % Wepiio-ahiet o 0 H TR A & | 38 Sahifoe § e v S
S VT N €| R oFafel T SR PR 3 o 9 ol 3 € R et ) i
(MG el T |

A, SRfites % AR " TR 9 FIEE § 9 gk AR cgrl T B W,
B ¥, Fo € Y S Y €Y 0 o Y S AR g

HTCTRH o ST, Feruimeren A SR 12 o R e Ry % 20 3 % g ¥ ot 3 oty A
T ToRuITaRen ) 6T < ) W - o feofo & MR R S-S S H ofe- ST
ol & | 39 sty ¥ oo % 9 forpce S § Hew oited 2 €

Sub questions

Question Number : 46 Question Id : 53307211471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fereTrraren’ veg o 2 €

(1) OTH 3= T A

(2) YA H WA

(3) OfCgeerdl i SR ST

(4)  sifaerarenel gfen § faxfaa
Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 53307211472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e’ Wi Y Seafy ety e ¥

(1) wfeq ¥

(2) I (UER) 9
(3) wERdH

(4) “HAH
Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 53307211473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepvIrere & ety ¥ U8, Wfes # v Frefefed #1 S €

(1) T T W & ¥, Wl &9, T &9 9 S I &9 8 a9 § 9w 6
T

(2) ToRI, 374 ST o o @ a1 el el o W W FW o €

(3) oI T - 1 eft S TR 1 E  E9 H SRR

(4) o o HE W g i 5 TR AR R o A R

Options :



1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307211474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ffodl A forumrereen &t g sfeq & frefafed s #1 ¢ -

(1) T 3q
(2) ¥ Y
(3) =Hd F
(4) TS
Options :

1.1

2.2

3.3

4.4

Question Number : 50 Question Id : 53307211475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fervirrereen % an # frefafae For § 9 $9-1 F9 T 87

(1) Tersimreren 12 5 it 379 § @ i 20 99 %1 31 % o4 F1 3@ & ¢
(2) IS wfesAaTI Tl o G © o ForviNreRen e ST 2l ¢

(3) TR, Torm it i i WeRafEl 1 2ol A H e A g

(4) Forarereen # % Y SR wIeRIe Wit T A ¢

Options :
1.1
2.2
3.3
4.4
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